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o 34,001 34,001 0 |[%t 34,001]
i A 12,000 12,000 0|0 ABIZXI0BIEI0l DEEII 2 = 12,000,000
212071 EF A 2 & @ ! ! 0 - 1,000
o133 2 8l bl & ¢ 22,000 22,000 0|0 98, BANICTEY Bl = 22,000,000
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O XIS= T A (HIESS T S) = 70,000,000
O MISKIHEME SYHIHESETS) = 130,000,000
O HASIHE 2sia U ABIHESETAE) = 12,000,000
O HAZASHALI(HIESETRE) = 40,000,000
O ZAZCHWIT 2AY|(HFESLRHS) = 89,500,000
0 2019 HELKSUISRI(HESSTFIE) = 30,000,000
O H208] ABIZTIOE JISARBI(HIESSIAS) = 10,000,000
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. AQE LB NN NS = 22,000,000
. JIRAETIZARISAD = 16,000,000
- JENESRE = 10,000,000
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. NBI=TIARI S = 12,000,000
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o ANBI2XIEO5 22 = 3,836,000
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213 |Al & ZHH| S Xl Hl 3,000 4,001 A1,001 |O AIEEHISXIH [Xt 3,000]
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315 AL 2 & A Y b 53,000 53,000 0O AleISKISEAY [< 40,000] [Xt5,000] [£ 8,000]
o M202| At=lSRIClY JIEAY = 15,000,000
o 2019 MI=LtsCH=A = 38,000,000
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81,216 71,314 9,902 |[[£ 79,000] [X+ 1,216] [& 1,000]
76,790 67,750 9,040 |[& 76,783] [t 7]
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£ A 140,318 180,311 | 39,993 |[Al 80,040] [X+ 1,198] [& 59,080]
o1 [AFH 2 b 93,318 83,311 10,007 |[Al 75,040] [Xt 1,198] [& 17,080]
1ler 2 57,138 29,616 27,522 |[Al 57,125] [Xt 13]
112 o| 48287 11,006] 37,2810 204 [Al 48,286] [t 1]
AR 20088202 x 38 = 6,026,460
20832902 x 98 = 18,749,610
N 10343508 x 82 = 15,474,800
20088202 x 42 = 8035280
ol =~ 0 14,000 214,000 |0 mg
15]gf = =z w2 4,190 2130 2,060 |0 =2 gEHz2 [Al 4,186] [Xt 4]
§xA83 x| oo = 4,186,430
T EE 4,661 0 480 2181 |0 AlslEES2 [Al 4,653] [Xt8]
o 20I2(RI20D) 48,286,1502 x 45% = 2172877
o ALTE(ZR0) 48,86,1502 x 3.23% = 1,550,643
o )| QP (RS0D) 1550,64380 x 7.38% = 115,102
> DEUE(XI) 482861502 x 09% = 434,575
o ATHEE (ZIR10) 48,286,1502 x 0.77% 371,803
12 2 = & g 2 400 200 2,200 |[Al 1,300] [X 100] [ 1,000]
12121 2 2 o 2 400 200 2200 |0 D22 [Al 1,300] [X 100] [ 1,000]
o ST B2 U B2|-2Y 100,0002 x 208] = 2,000,000
o ABI=2Q2 21| 400,0008 x 18] = 400,000
132 o 33,780 53,495 | A19,715|[Al 16,615] [Xt 1,085] [= 16,080]
13104 Hl 800 1,600 A800 [O 04| [Xt 300] [ 500]
o Tl 20I(ZX0{HI) 200,0002 x 2% x 23 = 800,000
182 |48H & 242| 16,400 24695| 8205 |0 A8 U 242 [Al 14,855] [X 345] [Z 1,200]
o ZOOPI IR AR = 14,000,000
o NPRE U ADE 29 = 2,400,000
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HI| 13|12 ¥ HI[1Bl2 2 2 =2 9,180 13,700 | 24,520 |0 2222 [ 9,180]
o M3Z, MI|-STAR2 S = 7,080,000
o QEHYER = 300,000
o NZILKSZCOI O1& 22| = 1,800,000
143 A 2 o 23 800 1,000 A200 |O MAIZZ [Al 760] [} 40]
o WEEH} XISXHM, B3NN 22, B82 S = 800,000
135 |t 2 H 2,400 8,300 25,900 |0 xil [Al 1,000] [Xt200] [& 1,200]
o HSELX} LR, AR, 2t S = 2,400,000
136 | 2 H| 1,200 1,200 MOR=E1:] [X+200] [# 1,000]
o LD MBH| S = 1,200,000
13702 & 2 9 3,000 3,000 0|0 JIEFR2GH] (& 3,000]
o J|EFREH| = 3,000,000
A g2t A & 10,000 31,000 221,000 |[& 10,000]
213|Al & & Hl 2 Xl 4 10,000 31,000 221,000 |O AIAZHISKILI (& 10,000]
o OO L SRAIEH 272-7|2 HIE 4| = 10,000,000
of  HI| 31 (Y BFAF 2 HI 37,000 66,000 | A29,000 [[Al 5,000] [ 32,000]
31 MU sECS O 37,000 66,000 | 229,000 (O EES0IB! UBHAISH] [Al'5,000] [& 32,000]
2 g A g ol o J|RAIZ AN A BDA ©2t = 3,000,000
o AIE)|R SEAY = 4,000,000
o NZUSESO! 012X et J|SRAE M2 = 30,000,000




